BIOL 100

Quiz 1
1.  Which of the following is true?

A)

A scientific theory is just a hunch about a natural event 


B) 


A hypothesis carries the same weight as as a theory


C) 


A scientific theory explains what we know up to this date about a natural event 


D) 


A scientific theory is the final answer to a question about a natural event

2.  Choose the answer that best describes the sequence of the scientific method

A)  experiment, observation, hypothesis, conclusion

B)  hypothesis, experiment, observation, conclusion


C)  guess, hypothesis, experiment, conclusion


D)  hypothesis, observation, hypothesis, experiment

E)  observation, hypothesis, experiment, conclusion
3.  What maintains cell shape, anchors organelles in place, and provides railways to move materials within a 
cell?
A) Cytoskeleton

B) Flagella

C) Cell membrane


D)  Peroxisome

4.   The difference between a theory and a hypothesis is that:
A) a theory is a hypothesis that has been repeatedly supported by independent scientists 

B) a hypothesis must be proven beyond a shadow of a doubt
C) a hypothesis must be supported by evidence

D) a theory is just conjecture  
5.  Which choice below correctly matches organelle with function?
A) lysosome — energy generation
B) smooth endoplasmic reticulum — lipid production
C) mitochondria — protein synthesis

D) cytoskeleton — recycling of materials
6.   A good hypothesis must

A) be falsifiable
B) be false
C) be theoretical
D) lead to a question
7.  The basic units of life on this planet are called:

A)  phospholipids


B)  proteins


C)  cells


D)  prions

8.  Prokaryotic cells lack:
A) DNA

B) Proteins

C) Ribosomes

D) Nucleus and other membrane enclosed organelles

9.   In running an experiment on plant growth, you find that you can’t control for genetic differences between 
individual plants.  This is an example of a(n)…
A) dependent variable

B) independent variable

C) confounding variable

D) reason to abandon the experiment

10.  Which of the following is an example of a eukaryotic cell?
A) an Archaean

B) a bacterium

C) a virus

D) a plant cell

11.  A secretory protein like insulin will be made where?

A) At a free ribosome

B) In the golgi apparatus

C) At a ribosome bound to the endoplasmic reticulum

D) In a lysosome

12.  The baseline of comparison for your experimental data is the…

A) Control group

B) Experimental group

C) Initial observation

D) Background information

13.  The large central vacuole of plants:
A) replaces the nucleus

B) stores water and helps the plant stand up

C) makes carbohydrates for the plant cell

D) doesn’t actually exist

14.  The factor that you the scientist changes in an experiment is the…
A) Independent variable

B) Dependent variable
C) Confounding variable

D) The scientist shouldn’t change anything in an experiment

15.  A scientific conclusion requires _______ to be accepted by other experts in the field.

A) A giant breakthrough

B) Bias

C) Repeatability

D) Lack of objectivity

